ufiSpace

S9600-56DX

Open Aggregation Router

Hardware Installation Guide




Table of Contents

OVBIVIBW ...ttt e e e e e ettt s ettt s e e e e e e et e st b e e e e e amsa e a e e e e e e eeennnnnnes 1

2 PrEPAIALION ...ttt 2
A [ 11 = = 4T T 1 T PP PPUTRPRPRRRR 2
2.2 Installation Environment REQUIFEMENLS.........uuuiiiiiiieiiiiiiiiiiiieieee e e e 3
2.3 Preparation ChECK LISL........cuiiii it e e e e e e e e 4

3 PacCKage CONTENTS.........uuuiiiii e e it s e e e e e e ema s e e e e e e ee s e e e e e e e e amaasaeeaaees 5
3.1 ACCESSONY LISt ittt e e e e e e e e s s s bbb e e e e e e e e e e e e naneees 5
3.2 Comporent Physical INfOrmMation..............uuuuiiiiiiieiiiie e 6

4 [dentifyiNg YOUI SYSEIML.....uuiiii e e e e s e e e e e e e e e e e e e e eenees 7
4.1 SOB0O56DX OVEIVIEW.......eevveeerreerrreernnnrunnnnsnnnnnnnaaaaaasaaaasaaaaaaaaaaaaaaaeeeaaeeeeeeeerrerereee 7
A e O =T VTR 7
8.3 FAN OVEIVIEW...eciiiiiieiiiiiiiiiiee ettt e e e e e e e e s sttt et e e e e s e e e s s s bb bbb st e eeaaaeeeesssaanssbbseeeeeaaaeessnans 8
O o T A @ YT V= 8

5 RACKIMOUNTING ...ceeeeiiie e e e e e ee e e e e e e e e et e e e e e e e eestneeeeeeeennnns 10
6 INStalling Fan MOAUIES............ooeiiiiiiiiiiiieee e 13
7 Installing Power SUPPIY UNIES.......oooiiiiiiiiiiiiieeee e 14
8 Grounding the ROULEL........ccooiiiiiiii e e e e e e e e e e ems 16
9 CONNECHING POWEL.......euiiiiiiiiiiiiiiii et e e 18
TN B LV =T 3 o o PP ORI 18
T e O =T £ [0 o 20
10 Verifying FStEM OPEIATION . .....uuuuuuiieee e ee ettt ettt ettt e e s e e e e e e e e e e e e e e e e aaaeeaeens 22
10.1 Front PANEI LED..........coiiiiiiiiiiiiiiiiiieieee ettt e e e e e s e e e e e e e e e e e e nnnnnennees 22
10.2 PSU FRU LED. ... ..ottt e e a e e e e e e e e e e e e nnnneenes 23
10.3 FAN FRU LEDL.......o oottt ettt e e e e e e e e s et e e e e e e e e e e ens 23
I g 11 (= VS V5] =1 0 (RS T= (1] TSP 24
D22 - o] (=3 @] o g 1= o1 1 (0] o SRRSO 26
12.1 Connecting the USB Extender Cable.............ccooo i 26
12.2 Connecting a Cable to the ToD Interface..............ooooieeeeees 26
12.3 Connecting the GNSS INtEITACE .......uuiiiiiiiei e 27
12.4 Connecting the 1PPS INTEIACE.........oviiiiiiiiiiiieeee e 27
12.5 Connecting the LIOMHZ INTEITACE.......cc.uiiiiiiiiiiie e 28
12.6 CoNNECHING the TraNSCEIVEL...... it it e e e e e 28
13 Cautions and Regulatory Compliance Statements............ccevvieeiiviiinneeeeeeeeiiee e eeeeeeens 29
13.1 Cautions and Regulatory COmMPlaNnCEeS..........c.uuuiiiiiiiiiieiii e 29

S960656DX Hardware Installation Guide |



>,

Overview

The UfiSpace S96@BDX is a higperformance, versatile, open disaggregataghregation
router. It is designed to address the changing needs of the next generation transport
network as telecoms make the transition from legacy technologies towards 5G.

Providing 25G (through breakout cable), 100G, and 400G services ports, theS88600
platform can enable multiple application architectures required for high traffic loading in a
5G mobile Ethernet network. Due to its versatility, the S966DX can be positioned into
different parts of the network to perform aggregation, such ashia backhaul to aggregate
BBU pooling or even as a Broadband Network Gateway (BNG) within the central office.

The S960B6DX is an edge Grandmaster equipped with Primary Reference Time Clock
(PRTC), distributing phase and time accuracy via PTH B[8R275L), which meet the need
for 5G applications.

With the hardware fully supporting IEEE 1588v2 and SyncE synchronization, 1+1 redundancy
hot-swappable components, and a high port density design, the S96DX delivers high

system reliability, Ethernet switing performance and intelligence to the network that

helps reduce infrastructure and administrative costs.

Thisdocumentdescribeghe hardwareinstallationprocesdor S960656DX

S960656DX Hardware Installation Guidd |



B>

2.1

<<= <

Preparation
Installation Tools

Insulation

Wire Lead

Screwdriver (Phillips head #2) Ground Wire
(size #6 AWG) 0.5 +/- 1.02"
DC Power Wire (12.7 +/- 0.5mm)
(size #6 AWG)
Phillips #2ScrewDriver 6-AWGgreenand-yellowwire for grounding

6-AWG DC power wire

Lug

Crimping tool Wire stripping tool

LS9 Note

All illustrationswithin this documentare for reference purposes only. Actual
objectsmay differ.

w PC with terminal emulatioroftware. Refer to the "Initial System Setup" section for
details.

w Baudrate: 115200bps
w Databits: 8

w Parity: None

w Stopbits: 1

w Flowcontrol: None

S960056DX Hardware Installation Guide |



2.2

Installation Environment Requirements

w PowerReserveTheS960056DXpower supplyis availablewith:

1. DCVersion:1+1Redundant and hot swappabi40 to-72VDCpower supplyfield
replaceableunit or;

2. ACVersion:1+1Redundant and hot swappab®90to 240VACpower supplyfield
replaceable unit.

To ensure theedundantfeed power design functions properly, a field with dual power
circuitisrecommendwith areserveof at least2000 watts oneach powercircuit.

SpaceClearanceTheS960056DXwidth is 1716inches (8.6cm) and shippeavith a rack
mount brackets suitabléor 19 inch (48.3cm) wide racks. The depth of 8860056DX
chassis i80inches 76.2cm) without the field replaceable unitfERUsand comes with
adjustablecheckmounting rails suitable for rack depths of 22 incf@s9cm)to 33 inches
(83.8cm). The &ndle for the fan units will extend outwards bylhinch (2.9cm) and the
handle for the power supplies will extend outwards b$linches(3cm). Therefore, to
accommodatdhe fan and power supply handles, a minimum spelearance ob inches
(15.2cm) is needed at the back of tf8960056DX A total minimum reserve depth @6
inches 91.4cm) is required

For 19” rack width For 22”~33” rack depth

Figurél.

w Cooling: Th&960056DXairflow direction is frontto-back. Make sure the equipmenh

the samerackhavethe sameairflow direction.

S960656DX Hardware Installation Guidé |



Figure2.

]
Top DUT i
|
|
Bottom DUT i
- :
Rear wall clearance = 6 inches !H:
Figure3.
2.3 Preparation Check List
Task - Check Date

Powervoltageand electriccurrentrequirements

DCversion -40 to -72V DC,60A maximumx2or;

ACversion: 200to 240VAC 12.5A maximunx2

Installation spae requirements

S960656DXrequires2RU B.4p €8.8cm) in height19€ 48@cm) in
width, andneed aminimum reserve depth d36 inches 91.4cm)
Thermalrequirements

S960656DXworkingtemperatureis0to 45°C (32F to 113F),
airflow directionis front-to-back

Installation tools required

#2 PhilipsScrewdriverg-AWGyellow-and-greenwire stripper,and
crimpingtool

Accessoriesequired

PCQwith USB ports anterminalemulationsoftware

S960056DX Hardware Installation Guidd |



3 Package Contents

3.1 Accessory List

ltem Description Spec. & Dimensions

DC Version:

5xGroundingLugs (# 6 AWG,

MdPMné E mModnrTéE

(29 x 37.5 x 12.5mm)

2x Screws M4*L8.0mm
Grounding Lugnd  2x M4 Lock Washers

lset 0.14Ib(633g)/1set

1 .
Screw Kit AC Version:
1xGroundingLug(# 6 AWG)
MdmMné E mMonTé
lst 0.03Ib(15.3g)/1set
(29 x 37.5 x 12.5mm)
2x Screws M4*L8.0mm
2x M4 Lock Washers
2 Micro USB Cable 0o ® H{lynQ 1pcs 0.05Ib(24.49)/1pcs
3 RJAGoDBOFemale | o jaq ) 1pcs  0.23Ib(105g)/1pcs
Cable
Adjustable 304 E mM®§ £ E n
4 MountingRail (771x 44 x 2mm) 2 sets 7.091b (3.2kg)/2 sets
(for 4 post) (22¢ 88 NJ O1 RSL 3.53b (1.6kg)/1 set
Screw Kit (for Rack
5 Mount Bracket) 2x Screw M4.0*L5.5 1set  0.004lb (2.99)/1 set
Power Cord 1.541b(700g)/ 2pcs
6 2 pcs
(AC only) 7H © n(3B30mm) p

0.771lb (3509)/1 pcs

S960656DX Hardware Installation Guidé |



3.2 Component Physical Information

Specification

ltem

Total package contents

Description
76.171b (34.55kQ)

Chassis without FRU

42.46lb (19.26kg)

Power Supply Unit (PSU)

DCPSU2.2Ib(1.0k9

ACPSUZ2.6lb (1.2kg)
. Fanmodule 1.11b(4989)
Weight :
Ground lugkit 0.14lb (63.39)
Adjustablemounting rail 3.53b (1.6kg)
Micro USBcable 0.09b (24.49)
RJ450 DB9emale cable 0.23Ib(1059)
AC power cord (AC version only 0.771b (3509)
1716¢ 36 385
S960056DX(W x D x H)
(436x762x87.7mm)
Dimension

PSU (W x D x H)

MODAEBLEE E M P p3REX 4G 2mm)D

Fan (W x D x H)

3.15¢ 4B 3H% 80x122x80mm)

S960056DX Hardware Installation Guidé |



4 ldentifying Your System

4.1 S960056DXOverview

H =3.45"
ISl (37.7mm, 2RU)

4 x SFP28 24 x QSFP28 8 x QSFP-DD 24 x QSFP28

D =30"
(762mm)

System LED

Micro USB RJ45 management
Console

T
W =17.17" S 4x Fan Modules

(436mm)

Figure4.

4.2 PSU Overview

Power supply uni{fPSUWwith 1+1 Redundacy. Hbt swappablefield replaceable unit (FRU).

AC Version:

Figureb.

S960656DX Hardware Installation Guid€ |



DC Version:

Figure6.

4.3 Fan Overview

3+1 Redundant, hot swappableeld replaceable unit (FRU)

Figure?.

4.4 Port Overview

S960056DX Hardware Installation Guide |



Port ID Form Factor Maximum Support Distance Support Speed

0-~3 SFP28 Up t024.85mi (40km) 1/10/25G
0 ~47 QSFP28 Up t049.7mi (80km) 40/100G
0~7 QSFFDD Up t0372.82mi (600km) 100/400G

The 400G QSHPD interfaces on th&960656DXcan support 400GZR and OpenZR+ transceivers.

24 28 32 36 40 44
<
2547297 73375375 | 2417145

26 30 34 38 42 46
27 31 35 39 43 47
: A g o

v W o

Figure8.

S960056DX Hardware Installation Guid® |



5 Rack Mounting

% It is recommended that installation be done atyleasttwo trained professionals.
One individual should hold theuter in position while the other secures it in
Caution | place onto the rail slides

1. Separate the adjustabl@ountingrail slides
1.1Pull apart the inner and outer rails until it is locked in placeaédtible click can be heard
when the rails are locked in place.
1.2 Pull the white tab forward to unlock the rails in order to completely separate the inner rail
from the outer rail. The white tab is located on the inner rail.
1.30nce the inner rail is separateplish the tab located on the outer rail to unlock and slide
the middle rail back.

Push tab to slide
- the middle rail

0 {11 Pull tab forward and .
- l' take out inner rail
white quII ~
e aat"
I
) e
Click! ,l’
Nt 9 inner rail ! middie rail
(1]

Figure9.

2 Install the inner rails onto the chassis.
2.1The inner rail has keshaped holesvhere attachment pins on the chassis can be aligned.
The chassis has 5 attachment pins on each s total of 10 pinsFit the keyshaped
holes with the attachment pins and pull back to hold the inner rack in place.

Make sure the locking screw of the inner rail is positioned at the front of th

S8 Not .
g ore chassis.

2.2 After the attachment pins aresecuredto the inner rail lockthe inner rail to the chassis
using two M4 screws (one on each chassis side).

S9606056DX Hardware Installation Guidd.()



Detach Inner Rail
from Standoff

Pull the latch upward
and remove the
keyhole from standoff.

Lockiné Screw

3 Fix the outer ragonto the rack.
3.1The outer rails have two brackets on the front and réullback theclip of therear
bracket toattachit onto the rack An audible click can be hear when the bracket is secured
onto the rack.
3.20nce the rear bracket is securediylifbackthe clip ofthe front bracketattach it to the rack.
An audible click can be heard when the bracket is secured onto the rack.

Figure 1.

4 Insert the Chassis to complete the installation.
4.1 Pull the middle rail fully extended into lock position, an audible click cdrebed when the

middle rail is fully extended and locked into position.
4.2Insert the chassis by lining up the inner rails into the slot of the middle rail.
4.3 Slide the chassis into the middle rail until it hits a stop.
4.4Push the blue release tab on each tailinlock the rails and slide the chassis all the way

into the rack.
4.5Lock the chassis into place by using the savawhe front of the inner rail.

S9606056DX Hardware Installation Guidd ]l

























































